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Some people believe that there should be fixed punishments for each type of crime.
Others, however, argue that the circumstances of an individual crime, and the
motivation for committing it, should always be into account when deciding on the

punishment.
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Discuss both the views and give your own opinion.
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Some people think it is best to accept a bad situation, such as an unsatisfactory job
or a shortage of money. Others argue think that it is better to try and improve such

situations. Discuss both these views and give your own opinion.

On the one hand, it could be argued that acceptance during hard times is the most
effective approach. There are circumstances where people are not in control of their
lives due to external factors. For example, a young man who dreams of becoming a
musician may have to comply with his parent’s will to take the job of a lawyer,
although it doesn’t satisfy him. Thus, accepting the situation will allow a person to
find happiness in other areas of their lives and not live in constant regret of the ones
that they cannot change. What is more, those who are in favour of living with tough
situations feel they lack the willpower to do anything about them. After all, changes

can be intimidating and it requires great courage to step out of the comfort zone
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